CCNA3 Module 3 (Part II)

1. Perform the 4 steps to configure EIGRP (write the command)

2. Why is auto-summary important? (figure 2)

3. What is the command to turn off auto-summarization?

4. What is the command to manually configure a summary address?

5. Read the commands in Figure 3

6. When the neighbors and their routes remain viable or passive, are they in good state?

7. What do EIGRP routers do by forming adjacencies?

8. Understand the following expressions:

· Neighbor address

· Hold time

· Smooth round-trip timer (SRTT)

· Queue count (Q Cnt)

· Sequence Number (Seq No)

9. Do the interactive exercise on page 3.2.5

10. What is the successor?

11.  Can a router install multiple successors if neighbors advertise routes with the same metric?

12.  What can EIGRP routers do if a successor fails? (figure 3)

13.  Review the process to use feasible successor (figure 4)

14. If a feasible successor is not found, what will happen? 

15. Troubleshooting is very important. Study the steps from figure 1 to figure 10.

16. If the RIP routes are not being advertised, what should be checked?

17. If IGRP does not appear to be working correctly, what should be checked? 

18. What are some possible reasons why EIGRP may not be working correctly?

19. What are the majority of problems encountered with OSPF?

20. Read and study the figure 1.

21. What information can we get if we use the command “debug ip ospf events”?

22. If a router configured for OSPF routing is not seeing an OSPF neighbor on an attached network, what tasks should we perform?

